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FoA] L ALS] E A 2
QA Y784 n) (A3 FA4) 1)
9] o1 e 9 H (k9] D)
B x 3 . (3 B HHE AGE =z
BA A -G (3A) - ARAIE - HAE o AF el B a 57+
32470 (AL E2] ) 10,200 19,744 A9,544
Qle] 2o H] 3,000 4,200 A1,200
Q18] 23] 3,000 4,200 A1,200
203 FHF-F714] 3,000 4,200 A1,200
04 FATFHFFX4] 3,000 4,200 A1,200
DEAEAFFFH 250,000¢12¢ = 3,000
717 7,200 15,544 A8,344
71873 1] 7,200 15,544 A8,344
201 GREI-GH] 7,200 15,544 A8,344
01 AR 7,200 15,544 N8,344
DA EA T} B89 AMF-8-E1] 6,000,000 = 6,000
DA EA] 3} B8 AETEE 1,200,000 = 1,200
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